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Qu. Answers Mark Part Marks 

1 3.14    π    

7

22

    √10 2 M1 3.1428(…) and 3.16(2…) seen 

2 650 2 M1 

4.2

600

 (× 2.6) 

3 44 2 M1 97 or 53 seen 

4 30 2 M1 108 × 1000 / (60 × 60) 

5 3.2(0) × 10
4

     2 B1 32000 or 32 × 10
3

 etc 

6 (a) 0.461939(…) 

 

(b) 0.4619 or ft  

1 

 

1ft 

 

7 1.62 3 M1 

4

1

 π 0.8
2

     

M1 adding (0.8 × 1.4) to their k π 

8 (a) (i)   

      

      

      
 1 

or 

      

      

      
 

  (ii)  

      

      

      
 1 

 

 (b) 2 1  

9 Sunday     (May) 25    1045 1, 1, 1 Independent  

10 24.3(0788…) 3 M1 5 × 3.5 + 2 × 1.5 

M1 (√) 1.5
2

 + 3.5
2 

11 

5

42 wcw −

  oe 3 M1 one correct move to clear fractions    

M1 second correct move to subtract term 

M1 third correct move dividing by 5 

May be in any order 

12 

4 6 10 P 15

2

8

5

20

RQ

 

3 M1 15 only in small circle 

M1 10 only in the intersection 

A1 all correct including labels 

13 x = 12    y = –10 

 

3 

 

M1 consistent addition (& mult) for x 

or consistent subtraction (& mult) for y 

A1 only earned if method correct 

14 3.84 or 3

25

21

 3 M1  y = 
2

x

k

  oe  A1  k = 96   
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Qu. Answers Mark Part Marks 

1 (a) –5  

 

(b) 11 

1 

 

1 

 

 

2 %482380.4

11

53

>>>  2 M1 for decimals seen 

4.7958…    0.48     (4.80)     4.81(…)      

3 500 2 M1 for 600 × 0.6 ÷ 0.72  seen 

4 70 2 M1 for 252 × 1000 ÷ 60 ÷ 60  oe 

5 18 2 M1 for 21.6 ÷ 1.2  oe 

6 x + 8 2 M1 3
8

  seen 

7 

 

2 B1 for one correct  Venn diagram 

 

 

8 

6

35 −x

 2 B1 for 5x – 3  seen 

SC1 

6

3

6

5

−x  on answer line 

9 5(.00) × 10
5 

2 SC1 for 5 × 10
k

 or 500 000 on answer line 

10 220.5 cao 2 M1 for 73.5 seen 

11 16.8  3 M2 tan17 = 

55

h

  or tan73 = 

h

55

 

or M1 tan17 = 

h

55

 or tan73 = 

55

h

 if angle seen in 

wrong place at P 

12 9 – 2x
2

 3 B1 for x
2

 – 3x – 3x + 9  or  2x
2

 – 6x – 6x + 18   

B1 for 4x
2

 – 6x – 6x + 9  or  –4x
2

 + 6x + 6x – 9 

13 (a) 0 

 

(b) 2 

 

(c) plane across centre of shape 

1 

 

1 

 

1 

 

 

 

 

Three possibilities 

14 6 3 M1 for one correct first step which leads towards 

simplifying  

9

2

123 =+−

y

y   

or 6(y – 4) + y = 18  

or y – 4 + 

6

y

 = 3 

M1 correctly collecting their  terms to py = q 
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9 (a) 

 

 (b) 

 

 (c) 

67 

 

62 

 

Correct labelled vertical scale 

Bars equal width (with 

consistent/without gaps),  or lines 

All 7 bars/lines correct height 

2 

 

1 

 

1 

1 

 

3ft 

M1 their 469 ÷ 7 

 

cao 

 

 

 

 

W2ft for 5 or 6 bars correct, W1ft for 3 or 4 

10 (a) (i)  
  (ii) 

325.65 

 

460.62 or 460.61 

2 

 

3 

 

M1 for 500 × 0.6513 soi 

 

M1 for 300 ÷ 0.6513    

A1 for 460.6 or 461 or 460.617…. 

W1 indep for their visible answer corrected to 

2dp 

 (b) 349.70 3 M1 for 

100

8.32325 ××

 or 24.7(0) 

M1dep for their interest added to 325 

 

 (c) 617.98 3 M2 for 550 × 1.06
2

  

or M1 for 550 × 1.06 oe  

and M1 dep for second year  

Penalise accuracy only once in the question 

11 (a)(i) 

 

  (ii) 

 

 

 (b)(i) 

Reflection in the x-axis (or y = 0) 

 

Rotation, about origin, 90° (anti-

clockwise) 

 

Correct translation 

1, 1 

 

1, 1, 1 

 

 

2 

 

 

 

Accept (0,0) or O 

Accept  (+) 90, − 270, ¼ turn 

 

W1 for correct shape and orientation translated 

by ⎟
⎠

⎞
⎜
⎝

⎛

0

6

 or ⎟
⎠

⎞
⎜
⎝

⎛

4

0

 or ⎟
⎠

⎞
⎜
⎝

⎛

6

4

 

  (ii) Correct enlargement 2 W1 for correct orientation and size but wrong 

position 
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6 (a) 

 

 (b) 

 

 

 

 (c) 

 

 (d) 

 

 (e) 

 

 

 (f) 

–1.5   –10   10   6   1.2 

 

14 points plotted accurately 

2 smooth correct curves 

No part across y-axis 

 

0.4 to 0.5 

 

−3   −1    1 

 

Ruled line from (−3, −3) to (3, 1) 

 

 

(−1.5,  −2)  and  (3,  1) 

3 

 

P3ft 

C1 

B1 

 

1 

 

2 

 

2 

 

 

1,  1 

B2 for 3 or 4 correct, B1 for 2 correct 

 

P2ft for 11, 12 or 13 points, P1ft for 8, 9 or 10 

 

Indep 

 

 

 

B1 for 2 correct 

 

SC1 for freehand or short ruled line – must meet 

curve twice or P1 for their 3 points plotted 

7 (a) 

 

 (b) 

−3 

 

8 

2 

 

2 

1 for correct substitution seen 

 

M1 for 37−5 =4d  oe 

 (c) 

4

aS −

 2 M1 for one correct step seen 

8 (a) 314.60 3 M1 for 

100

6.34275 ××

 or 39.6 

M1 dep for their interest added to 275 

 

 (b) 703.04 3 M2 for 650 × 1.04
2

   

or M1 for 650 × 1.04 oe  (implied by 676) 

and M1 dep for second year  

 

 (c) (i) 

 

  (ii) 

314.28 

 

627.55 or 627.54 

 

2 

 

3 

M1 for 400 × 0.7857 

 

M1 for  400 ÷ 0.6374 soi 

A1 627.54…, 628, 627.5 

B1 indep  for their visible  answer corrected 

to 2dp 

Penalise accuracy only once in the question 

9 (a) (i) 

 

  (ii) 

 

 (b) 

 

 

 (c) 

 

 

 (d) 

 

 (e) 

9 or 8.9 to 9.1 

 

53 – 55 

 

compass drawn circle centre C radius  

7 cm   

 

correct line drawn with angle BCX  = 

67° 

 

in range 9.3 – 9.9  

 

ruled accurate angle bisector of their 

CBX with 2 pairs of arcs 

1 

 

1 

 

2 

 

 

2ft 

 

 

1ft 

 

2ft 

 

 

 

 

SC1 incomplete accurate circle 

SC1 any complete circle centre C 

 

SC1 for BCX = 113°  or BCX = 67°   inside 

triangle or BCX = 67°, CX not = 7 

 

Strict ft from (c) 

 

SC1 if accurate but without arcs 

or M1 for 2 pairs of arcs 
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13 x < –3 3 M1 correct move  

M1 correct move 

M1 correct move 

14 (a) 10(.0) 1 
 

 

(b) 2

2

1

, 2.5(0) 2 M1 2n – 3 = 2 

15 31.4 cao 3 M1 

2

1

 × 2 × π × 3 oe  
 

M1 6 + 8 + 6 + 1 + 1 + k π     

16 

2

3

+

−

x

x

 4 B2 (x – 3)(x – 2) or B1 (x + a)(x + b) 

where ab = 6 or a + b = –5 

B1 (x – 2)(x + 2) 

17 (a) ⎟
⎠

⎞
⎜
⎝

⎛

80

08

 oe 2 B1 for one column (or row) correct 

 

(b) 

⎟

⎟

⎠

⎞

⎜

⎜

⎝

⎛

−

4

1

4

1

4

1

4

1

 oe 2 B1 for –1/8 ⎟
⎠

⎞
⎜
⎝

⎛

db

ca

 or B1 for ⎟
⎠

⎞
⎜
⎝

⎛

−

−−

22

22

 seen 

18 (a) (i) Tangent 

 

 (ii) 4.4 to 6 

 

(b) 780 

1 

 

2 

 

2 

Correct tangent drawn 

 

dep M1 attempting to find gradient of their tangent  

 

M1 evidence of finding the area under the graph 

ONLY from t = 12 to t = 25 

19 (a) 20200       

 

(b) 1260 

2 

 

2 

M1 65 × 300 + 700  

 

M1 71190 / 56.5 

20 x = 0.84 or 7.16     4 B1 

2

8 k±

   B1 √(8
2

 – 4 × 1 × 6) or better 

A1 A1 

21 (a) Bisector  

 

(b) (4, 2) 

 

(c) y = –2x + 10 oe 

2 

 

1 

 

3 

B1 accurate line   B1 two sets of correct arcs   

 

 

 

B1 correct m  B1 correct c  

M1 correct use of y = mx + c oe on answer line 

22 (a)  

 
D

14
0

3 2 12
L

E

 

4 

 

B1 0 and 14 in correct place 

B1 2 in correct place 

B1 3 in correct place 

B1 12 in correct place 

 

 (b) 11 

 

(c) 23 

1ft 

 

1ft 

B1ft 8 + their 3 

 

B1ft 21 + their 2                       
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13 245 or 246
 

3 M1 π × 5
2

 

M1 18
2

 – their kπ 

14  

 

 

 

 

3 M1 2 lines correct length 

M1 2 compass arcs correct length  

A1 complete accurate drawing with all lines and 

arcs solid 

15 36 cao 3 M1 1900/2.448 (= 776.14) 

A1 “776.(14…)” – 740 (= 36.14…) 

16 (a) 

9

4

x
8 

2 B1 

9

4

   B1 x
8 

 (b) 2y
–1

 2 B1 2    B1  y
–1

 

17 (a) 

 Boys Girls Total 

Asia 62 28 90 

Europe 35 45 80 

Africa 68 17 85 

Total 165 90 255 
 

3 B1 two or three correct 

or B2 four or five correct 

 

(b) 

17

3

 or 0.176(47…) 1 Allow 

255

45

, 

85

15

, 

51

9

 

18 (a) ⎟
⎠

⎞
⎜
⎝

⎛

−

−

140

014

 2 B1 two or three correct answers 

 (b) –14 1  

 

(c) ⎟
⎠

⎞
⎜
⎝

⎛

−

−

45

45

 2 B1 two or three terms correct 

19 (a) 14.1 

 

(b) 3.74 or 3.78 

2 

 

3 

M1 (BD
2

) = 10
2

 + 10
2

 or sin45 = 10/CD 

 

M1 (a)/2  M1 (their (a)/2)
2

 + PM
2

 = 8
2

   

20 (a)  

 

   R 

 

 

 

 

(b) 

4 

 

 

 

 

 

 

1 

B1 y = 2 

single line thro B1 (6, 0) and B1 (0,6)   

B1 y = 2x  

 

 

 

 

Correct R cao 
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Abbreviations 

cao  correct answer only 

cso  correct solution only 

dep dependent 

ft follow through after error 

isw  ignore subsequent working 

oe  or equivalent 

SC Special Case 

www  without wrong working   
Qu. Answers Mark Part Marks 

1 –8.3 1 Allow –8

10

3

 

2 21 55  1 Allow 9.55 pm 

3 1.6305 cao 2 B1 4.33(44…) seen or answer 1.63, 1.630, 

1.6304….
 

4 

   

1, 1 
 

5 Correct working 2 M1 

4

15

 + 

3

4

 = 

12

16

12

45

+  

M1 

12

1

5

12

61

=  

6 4.93% < 

41

20

 < 0.492 < 

161

80

 2 Allow decimal equivalents in answer space 

M1 decimals 0.48(78..), 0.496(8..), 0.0493   

7 1.14 2 M1 3.38 ÷ 1.04 (= 3.25)   

or M1 4.39 × 1.04  

8 1200 2 M1 figs 8 ÷ 40 × figs 9 ÷ 15   

or M1 (figs 8 × figs 9) ÷ (40 × 15) 

9 9.6 cao  2 M1 

10

12

8

=

x

 oe  

10 216.32 cao 2 M1 200 × (1 + (4/100))
2

 oe     

11 13
 

2 M1 21 + 15 – 23  

or M1 15 – x + x + 21 – x + 1 = 24 oe  

12 (a) 25 

 

(b) 0.4 

1 

 

1 

If zero scored SC1 for 250 and 4 or  

6.25 and 6.35 

13 10a + b or a × 10
1

 + b (× 10
0

) 2 M1 [a × 10
7

 + b × 10
6

] ÷ 10
6
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Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

 

Qu. Answers Mark Part Mark 

1 53.1 2 B1   C = 36.9 seen, must have C stated or marked 

on the diagram  

or M1 sinA = 
5

4

 or tanA = 
3

4

 but must have 

A stated 

2 
63 + , π 

2 

 

–1 for each error or omission 

3 Working must be shown 2 

M1  

9

14

and 

9

16

  M1   

8

7

16

14

=    oe 

or visible cancelling 

4 0.8
2

 2 

M1  conversion of 

27

16

 (= 0.5(9...)) and 

0.8
2

 (= 0.64)  to decimals seen
 

5 (6)€ or euros (with correct working)  2 M1  one of 6 × 1.9037 or 11.5 ÷ 1.9037 

or 11.5 ÷ 6 seen 

6 3.322 cao 2 

 

B1  3.3219(…) or 3.32(20) seen 

7 1.85 × 10
4

 3 B2 18500 oe seen or M1  4x = 74000 

or x = 2 × 10
4

 – 1.5 × 10
3

  

8 16 3 
M1   p = qk  

A1    k = 1.6 or 8/5 

9 1275, 1425 3 B1 85 or 95   or    0.85 or 0.95 

M1  their LB or UB × 1500  

where 85 Y LB < 90         90 < UB Y 95 

10 (a) (0)700 or 7 am  

 

(b) 1700 or 5 pm 

2 

 

1 

M1 100 – (5 × their(22 – 6) + their(13 – 8)) 

      or better  soi 

11 

c

bc+4

 or b

c

+

4

 cao 

3 M1 correct move completed 

M1 second correct move completed 

M1 third correct move completed 

12 x = 1 

y = 0.2 or 

5

1

 only 

3 M1 consistent mult and add/subtraction 

A1 one value correct after M awarded 

13 

(a) 72  

 

(b) 36 

 

(c) 54 

1 

 

1 

 

2ft 

 

 

 

 

ft 90 – (b)          M1  POQ = 108  
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12 

d

x−840

 or 

d

x

d

−

840

 

3 M1 400 × 2.1 

M1 “400 × 2.1” – x 

13 

 

 

 

 

 

 

 

 

 

            R 

 

 

 

3 Give the mark for R shown in region below 

 

                          2   

 

                  3                  1     

                          2   

  

     2                  1                 0 

 

14  y = 4x + 1 3 B1 correct numerical y = mx + c 

B1 c = 1  

B1 m = 4 

15 4.94 3 M1 π r
2

 × 12 = 920 

M1 (r
2

) = 

)12π(their 

920

×

 

16 

)2)(2(

25

+−

−

xx

x

 

3 M1 2(x + 2) + 3(x – 2) seen 

B1 (x – 2)(x + 2) common denom. seen 

17 (a) 

 

 (b) 

4.5(0) 

 

200 

1 

 

2 

 

 

M1 0.5
3

 or 2
3

 seen  

18 (a) 

 

 (b) 

27x
9 

 

25x
4

 

2 

 

2 

B1 kx
9

 or 27x
n 

 

B1 kx
4

 or 25x
n 

19 (a) 

 

 (b) 

32 

 

37.5 

2 

 

2 

B1 figs 32 or 1 cm to 2.5 km or 8 000 000 seen 

 

B1 (figs 25)
2

 seen or figs 375 in answer 

20 (a) 

 

 (b) 

 

 (c) 

 

 (d) 

35 

 

55 

 

55 

 

125 

1 

 

1ft 

 

1ft 

 

1ft 

 

 

90 – (a)   but b > 0  

 

= (b) 

 

180 – (c) 

21 96 www 5 M1 3
2

 + 4
2

 

A1 5 

M1 ½ × 6 × “5” (= 15) 

M1 4 × their triangle area + 6
2
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Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

 

Qu. Answers Mark Part Marks 

1 112 2 M1 for 240 ÷ (7 + 8) × 7  

2 (a) 211 cao 1  

 (b) 216 cao 1  

3 (x =) –3   (y =) 5  2 M1 for correctly eliminating one variable 

4 

81

16

  cao 2 B1 for

16

81

,

81

k

,

k

16

or (2/3)
4

 seen 

5 (a) 1.28 × 10
5 

1  

 (b) 128 500 1  

6 882 2 M1 800 × 1.05 × 1.05 

7 

9

1

,

4

1

 
M1 Both fractions seen 

 

⎟

⎠

⎞
⎜

⎝

⎛
=+

4

1

9

1

36

4

+

36

9

=

36

13

 

E1 Both fractions over a common denominator and 

added to give

36

13

 

8 0.186 2 B1 for 2.477 to 2.478 or 13.29… seen 

9 (a) 5 or −5 1  

 (b) −0.714 (−0.7143 to −0.7142) or −

7

5

 2 M1 for −2 + 2 + 1 − 3 − 1 − 2 and ÷ 7 

10 9 h 12 min 3 M1 for 8 × 1.15   A1 for 9.2 

B1 ft independent for their 9.2 correctly 

converted into hours and minutes 

11 x(p – 2q)(p + 2q) 3 M2 for (px – 2qx)(p + 2q) or (p – 2q)(px + 2qx) 

or M1 for x(p
2

 – 4q
2

)  

12 225.(23112) 3 M2 for (800 ÷ 3.8235 – 150) × 3.8025 

M1 for 800 ÷ 3.8235 

13 68.5   www 3 M2 for 67.13 ÷ 0.98 

or M1 for 67. 13 is 98%  

14 

3

2

66 or 66.7   www 3 M2 for 

)2(π

π

2

3

3

4

rr

r

 (× 100)   or M1 for )2(π
2

rr  

15  

xa

c

p

−

=  

3 M1 one correct move 

M1 second correct move 

M1 third correct move marked on answer line 
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Abbreviations 

cao  correct answer only 

cso  correct solution only 

dep  dependent 

ft  follow through after error 

isw  ignore subsequent working 

oe  or equivalent 

SC  Special Case 

www  without wrong working 
soi  seen or implied  
 

Qu Answers Mark Part marks 

1 (a) 

 

 (b) 

9486000 

 

9.486 × 10
6

 

1 

 

1ft 

 

2 495.36 2 M1 for 700 ÷ 1.4131 

3 3p(5p + 8t) final answer 2 B1 for answer of 3(5p
2

 + 8pt) or p(15p + 24t) 

or SC1 for correct answer seen in working 

 
4 tan 25 < 220.  < 0.47 < 

17

8

 

 
2 

 
M1 correct conversion to decimals 0.466, 0.469, 0.471 

 
5 

 
23.2 

 
2 M1 for 

29

253sin

x

. =  implicit form or better  

6 7 2 M1 27

5

9848

.

y

=

++++

 oe 

7 30.7975 cao  2 M1 6.35 and 4.85 seen  

8 9 2 M1 
3

5125 =   

9 (a) 

 

 

 (b) 

angle of 67° at B 

 

 

perpendicular bisector of AB  

1 

 

 

2 

B1 C marked on AD unless the line stops at AD and 

also correct ruled line 

 

B1 correct arcs B1 correct ruled line 

 

10 

 

843.75 

 

3 M2 for 750

100

5.25750

+

××

oe 

 

or M1 for 

100

5.25750 ××

 oe 

 

or SC2 for answer 93.75 
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Abbreviations 

cao  correct answer only 

cso  correct solution only 

dep dependent 

ft follow through after error 

isw  ignore subsequent working 

oe  or equivalent 

SC Special Case 

www  without wrong working 

art anything rounding to 

soi seen or implied 

  

 

Qu. Answers Mark Part Marks 

 
1 

 
(a) (i) 5  

 
2 M1 for 

)135(

153

++

×

 

 
 
 (ii)  108 

 

 
2 M1 for 60 × 

5

9

oe 

 (b)  Correct conversion of money  

     J × 0.718 or A ÷ 0.718 

 

 

   Correct equalising of weights 

 e.g. 

    J × 

]0[3

]0[2

                    or A × 

]0[2

]0[3

 

 or J ÷ 3 and A ÷ 2 or J ÷ 30 and  

 A ÷ 20   

 

97 to 98 or 201[.39…]   and Ann 

48.9[4.. ]  and 48.2[0] and Ann  

or 68[.16] to 68.[2]  and 67[.13] and 

Ann 

4.88… to 4.9  and 4.82 and Ann 

or 6.8[1..] to 6.82  and 6.7[1…] and 

Ann                                        

                                                         www 

M1 

 

 

 

M1 

 

 

 

 

 

 

 

 

 

A2 

 

Correct conversion of money 

soi by 146.83[1] rounded or truncated to 3sf or 

134.26[1…] rounded or truncated to 3 sf if 

done 1
st

  

Correct equalising of weights or money 

Accept other methods that give a pair of 

comparable values for method and accuracy 

marks 

This mark can be implied by values seen 

correct to 3 sf or better 

 

The underlined values imply M1 for the 

money conversion 

 

Or A1 for  97 to 98 or 201[.39…] 

or a correct pair of values with wrong/no 

conclusion 

 (c)   302 Final answer 3 M1 for  60 × 60 × 4 soi by 14400 or figs 6048 

or figs 3024 

and  M1 for  ÷ (1000 × 20) soi 

Answer 302.4 implies M2 

 
 
(d) 13.6[0] 

 
3 M2 for 

1.125

15.3[0]

oe 

or M1 for 15.3[0] associated with 112.5% 

 (e) 12 1  


